

$$p(x)u'' + p'(x)u' + r(x)u + \lambda w(x)u = 0 \quad (1)$$

$$(i) x^2 u'' + \lambda u = 0, x > 0$$

$$u'' + \lambda \frac{1}{x^2} u = 0, x > 0$$

← (\*)  $\int \frac{1}{x^2} dx = -\frac{1}{x} + C$

$$p(x) = 1, p'(x) = 0, r(x) = 0, w(x) = \frac{1}{x^2}$$

$$(ii) \sin x u'' + \cos x u' + \lambda \sin x u = 0, 0 < x < \pi$$

← (\*)  $\int \frac{1}{\sin x} dx = \ln|\csc x - \cot x| + C$

$$p(x) = \sin x, p'(x) = \cos x, r(x) = 0, w(x) = \sin x$$

$$(iii) u'' - u' + \lambda u = 0$$

بالفرق  $\int \frac{1}{s} ds = \ln|s| + C$

$$s u'' - s u' + \lambda s u = 0$$

$$\Rightarrow p(x) = s, p' = -s$$

$$\Rightarrow s' = -s \Rightarrow \frac{s'}{s} = -1 \Rightarrow \ln s = -x \Rightarrow s = e^{-x}$$

$$S(x) = \frac{1}{p} \exp\left(\int \frac{p'}{p} dx\right)$$

$$\therefore S(x) = 1 \exp(\int -1 dx) = e^{-x}$$

$$e^{-x} u'' - e^{-x} u' + \lambda e^{-x} u = 0$$

$$p(x) = e^{-x}, p'(x) = -e^{-x}, r(x) = 0, w(x) = e^{-x}$$

$$(iv) u'' - x^2 u' + \lambda u = 0 \quad S(x) = \frac{1}{\int -x^2 dx} = \frac{1}{-\frac{x^3}{3}} = -\frac{3}{x^3}$$

$$e^{-x/3} - 2e^{-x/3} u' + \lambda u e^{-x/3} = 0$$

$$p(x) = e^{-x/3}, p'(x) = -\frac{1}{3}e^{-x/3}, \mu(x) = 0, w(x) = e^{-x/3}$$

(2)

$$\dots P(f'g - fg') \Big|_a^b = 0$$

(i)  $p(x) = 1, a \leq x \leq b, u(a) = u(b), u'(a) = u'(b)$

$$1 [f'(b)g(b) - f(b)g'(b)] - 1 [f'(a)g(a) - f(a)g'(a)]$$

$$\Rightarrow [f'(a)g(a) - f(a)g'(a)] - [f'(a)g(a) - f(a)g'(a)] = 0$$

(+) (iii)  $p(x) = \sin x, 0 \leq x \leq \pi/2, u(0) = 1, u(\pi/2) = 0$

$$\sin \pi/2 [f'(\pi/2)g(\pi/2) - f(\pi/2)g'(\pi/2)] - \sin(0) [f'(0)g(0) - g'(0)f(0)]$$

$$1 \cdot [0f' - 0g'] = 0$$

(+) (ii)  $p(x) = x, 0 < a \leq x \leq b, u(a) = u(b) = 0$

$$b [f'(b)g(b) - f(b)g'(b)] - a [f'(a)g(a) - f(a)g'(a)]$$

$$\Rightarrow b [(0)g(b) - f(b)(0)] - a [f'(a)(0) - (0)g'(a)] = 0$$

(iv)  $p(x) = e^{-x}, 0 < x < 1$

$$u(a) = u(1), u'(a) = u'(1)$$

$$e^{-1} [f'(1)g(1) - f(1)g'(1)] - e^0 [f'(0)g(0) - g'(0)f(0)]$$

$$\frac{1}{e} [f'(0)g(0) - f(0)g'(0)] - [f'(0)g(0) - g'(0)f(0)]$$

(N)  $\Rightarrow$   $\frac{1}{e}$

$$\left[\frac{1}{e} - 1\right] [f'(c_0)g(c_0) - f(c_0)g'(c_0)] \neq 0$$

(V)  $p(x) = x^2$ ,  $0 < x < b$ ,  $u'(a) = u(b)$ ,  $u'(b) = u(a)$

$$\begin{aligned} x^2 [f'g - g'f] \Big|_a^b &= b^2 [f'(b)g(b) - g'(b)f(b)] - a^2 [f'(a)g(a) - g'(a)f(a)] \\ &= b^2 [f(b)g(b) - g(b)f(b)] - a^2 [f(b)g(a) - g(b)f(a)] \\ &= b^2 [0] = 0 \end{aligned}$$

(Vi)  $p(x) = x^2$ ,  $0 < x < b$

$u'(a) = u(b)$ ,  $u'(b) = u(a)$

$$\begin{aligned} b^2 [f'(b)g(b) - g'(b)f(b)] - a^2 [f'(a)g(a) - g'(a)f(a)] \\ = b^2 [f(a)g'(a) - f'(a)g(a)] \neq 0 \end{aligned}$$

(Vii)  $p(x) = x^2$ ,  $-1 < x < 1$ ,  $u(-1) = u(1)$ ,  $u'(1) = u'(-1)$

$$1 [f'(1)g(1) - g'(1)f(1)] + 1 [f'(-1)g(-1) - f(-1)g'(-1)]$$

$$f'(1)g(1) - g'(1)f(1) + f'(-1)g(-1) - f(-1)g'(-1) = 2f'(1)g(1) - 2f(1)g'(1) \neq 0$$

فإن المتكافئة السابقة هي  $\frac{1}{e}$  في  $\frac{1}{e}$   $\Rightarrow$   $\frac{1}{e}$   $\Rightarrow$   $\frac{1}{e}$   $\Rightarrow$   $\frac{1}{e}$

$a \rightarrow \infty$  or  $b \rightarrow \infty \Rightarrow [a, b]$  غير محدود  $\Rightarrow$   $\frac{1}{e}$

$p(a) \leq 0$ ,  $p(b) \leq 0$

$p(x) \leq 0$  for  $\forall x(a, b)$



(CA)

(iii)  $p(x) = \sin x$   $0 < x < \pi/2$ ,  $u(0) = 1$ ,  $u(\pi/2) = 0$

$p(0) = \sin 0 = 0$

... في كل نقطة في المجال

(iv)  $p(x) = x^2$ ,  $a < x < b$ ,  $u'(a) = u(b)$ ;  $u'(b) = u(a)$

$p(a) = 0$

(v)  $p(x) = x^2$ ,  $a < x < b$

$u'(a) = u(b)$ ,  $u'(b) = u(a)$

$p(a) = 0$

(vi)  $p(x) = x^2$ ,  $-1 < x < 1$ ,  $u(-1) = u(1)$ ,  $u'(-1) = u'(1)$

on  $(-1, 1)$ :  $p(a) = 0$

... في كل نقطة في المجال

$[ (x+3)^2 y' ]' + \lambda y = 0$ ,  $-2 \leq x \leq 1$

$y(-2) = y(1) = 0$

$a_2 x^2 y'' + a_1 x y' + a_0 y = 0$ ,  $y = x^m$

$\Rightarrow y' = m x^{m-1}$ ,  $y'' = m(m-1)x^{m-2}$

$[ a_2 m(m-1) + a_1 m + a_0 ] x^m = 0$ ,  $x^m \neq 0$

$\Rightarrow [ a_2 m(m-1) + a_1 m + a_0 ] = 0 \Rightarrow m_1, m_2$

(i)  $m_1 \neq m_2 \Rightarrow y_c = c_1 x^{m_1} + c_2 x^{m_2}$

(ii)  $m_1 = m_2 \Rightarrow y_c = c_1 x^{m_1} + c_2 x^{m_1} \ln x$

(iii)  $m_{1,2} = \alpha \pm i\beta \Rightarrow y_c = x^\alpha [ c_1 \cos \beta \ln x + c_2 \sin \beta \ln x ]$

$$(x+3)^2 y'' + 2(x+3)y' + \lambda y = 0 \quad (*)$$

$$x+3=t \Rightarrow \frac{d}{dx} = \frac{d}{dt}$$

$$(*) \Rightarrow t^2 y'' + 2ty' + \lambda y = 0$$

$$y = t^m \Rightarrow y' = m t^{m-1}, y'' = m(m-1)t^{m-2}$$

$$m(m-1) + 2m + \lambda = 0$$

$$\Rightarrow m^2 + m + \lambda = 0 \Rightarrow m_{1,2} = \frac{-1 \pm \sqrt{1-4\lambda}}{2}, \quad ? \quad 1-4\lambda < 0$$

$$y_c = t^{-\frac{1}{2}} \left[ C_1 \cos\left(\frac{\sqrt{1-4\lambda}}{2} \ln t\right) + C_2 \sin\left(\frac{\sqrt{1-4\lambda}}{2} \ln t\right) \right]$$

لأنه دالة  
 $1-4\lambda > 0$   
 يمكن كتابتها  
 هكذا

$$\Rightarrow y_c = (x+3)^{-\frac{1}{2}} \left[ C_1 \cos\sqrt{4-\lambda} \ln(x+3) + C_2 \sin\sqrt{4-\lambda} \ln(x+3) \right]$$

$$y(0) = 0 = 1 \left[ C_1 \cos(0) + C_2 \sin(0) \right]$$

$$\Rightarrow \boxed{0 = C_1}$$

$$y(1) = 0 \Rightarrow (1)^{-\frac{1}{2}} \left[ C_2 \sin\sqrt{4-\lambda} \ln 4 \right] = 0 \quad C_2 \neq 0$$

$$\Rightarrow \sin(\sqrt{4-\lambda} \ln 4) = 0 \Rightarrow \sqrt{4-\lambda} \ln 4 = n\pi, \quad n \in \mathbb{N}$$

$$\sqrt{4-\lambda} = \frac{n\pi}{\ln 4} \Rightarrow \frac{1}{4} - \lambda = \frac{n^2 \pi^2}{(\ln 4)^2} \Rightarrow \lambda_n = \frac{1}{4} - \left(\frac{n\pi}{\ln 4}\right)^2; \quad n \in \mathbb{N}$$

$$y_n(x) = (x+3)^{-\frac{1}{2}} \sin\left[\frac{n\pi}{\ln 4} \ln(x+3)\right]; \quad n \in \mathbb{N}$$

$$(py')' + pu + \lambda u = 0, \quad a < x < b \quad (*)$$

$$u(a) = u(b) = 0$$

(17)

$$\lambda \int_a^b |u|^2 dx = \int_a^b p|u'|^2 dx - \int_a^b r|u|^2 dx \quad (i)$$

$$\lambda u = -[(pu)'] + ru$$

$$\lambda u^2 = -[(pu)']u + ru^2 \quad (*) \text{ } \circlearrowleft$$

$$\lambda \int_a^b u^2 dx = - \int_a^b [(pu)']u dx + \int_a^b ru^2 dx$$

$$= - \int_a^b (pu)'u dx - \int_a^b ru^2 dx$$

I<sub>1</sub>

$$= \int_a^b (pu)'u dx$$

$t = u \Rightarrow dt = du$   
 $dv = (pu)' dx \Rightarrow v = pu'$

$$= [upu]_a^b - \int_a^b p(u')^2 dx = u(b)p(b)u'(b) - u(a)p(a)u'(a) - \int_a^b p(u')^2 dx$$

$$\Rightarrow \lambda \int_a^b u^2 dx = \int_a^b p(u')^2 dx - \int_a^b r(u)^2 dx$$

$$\Rightarrow \lambda \int_a^b u^2 dx = \int_a^b p|u'|^2 dx - \int_a^b r|u|^2 dx$$

$$\lambda \geq -c \quad \text{حيث } r(x) \leq c \quad p(x) \geq 0 \quad (ii)$$

واجب من فرق (i) في ايمان

$$\lambda \int_a^b |u|^2 dx = \int_a^b p|u'|^2 dx - \int_a^b r|u|^2 dx \geq \int_a^b p|u'|^2 dx - \int_a^b c|u|^2 dx$$

$$\int_a^b p|u'|^2 dx - c \int_a^b |u|^2 dx \geq \lambda \int_a^b |u|^2 dx \Leftrightarrow \int_a^b p|u'|^2 dx \geq (\lambda + c) \int_a^b |u|^2 dx$$

$$\Rightarrow \lambda \int_a^b |u|^2 dx = \int_a^b p|u'|^2 dx - c \int_a^b |u|^2 dx$$

حيث ان  $\int_a^b |u|^2 dx > 0$   $\Rightarrow \lambda + c \leq \frac{\int_a^b p|u'|^2 dx}{\int_a^b |u|^2 dx}$

(19)

$u' \neq 0$

$$\lambda = \frac{\int_a^b p |u'|^2 dx}{\int_a^b |u|^2 dx} - c$$

$\int p |u'|^2 \geq 0$  w.  $|u'|^2 > 0, p \geq 0$   $p \in C^1, p > 0$

$$\Rightarrow \frac{\int_a^b p |u'|^2}{\int_a^b |u|^2} \geq 0 \Rightarrow \lambda \geq -c$$

□